Question Scheme Marks = AOs

5 4cos xsin y+2sin xsin 'y = 3sin Xcos y —5c0s Xcos y
sin x i
2 stanx or 2Y —tany M1 1.1b
COS X cosy

4tany+2tanxtany =3tanx—5
leading to dM1 | 3.1la
3tanx—2tanxtany =4tany+5

Al 1.1b

3)

(3 marks)

Notes:

M1: Divides by cosx or cosy and uses 22~ =tanx or 3™Y _ tan y May be implied.
COS X cosy

dM1: Reaches an equation in tanx and tany only and isolates terms in tanx.

Atany+5 0.e.e.g., tanx = —4tany-5 or tan x = -2 11

Al: Achieves tan x = L=
3-2tany 2tany -3 3-2tany






